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16) What is the sub-triplicate ratio of 4913 : 68597

A) 17 : 18
B) 17 : 19
C) 19 : 21
D) 18: 19

16) 4913 : 6859 6 AR-GANEAF AFUIT 6963 629 ?

A) 17 :18
B) 17 : 19
C)19: 21
D) 18: 19

17) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All diodes are elements.

All transistors are elements.
Conclusions:

I) All diodes are transistors.

Il) Some transistors are diodes.

A) Only I follows

B) Only Il follows

C) None of the conclusions follow
D) Both | and Il follows

17) F6SGIART. 967 GRIAINYSI A2 I8 78 Fad GRS |
NG TALIDAR! FILG ASY 6QIR AIFAIG UEF AGE T <al
QRIIGSIER R G2AY0IR TR CRHINIRAN | AN Fad]g ALY
48° GI06a A9a Fug, GuIKIRYQl Fad FrIQ 6RUS! ARIREER
IR GAR UAIRT| 8QeR FIByg 0] QI6Q AFU0E Q& |
FRQY: A9 B0 gEe AR6N4d 199 9IRFad gue ReReaed |

aad:
) Qg G6q 968 SIFFand |

1) @8 QI96eQq gEe 6 26e |

A) 629 | 258 @99

B) eaqq Il 29204 @9g

C) 67169d @ Fadg 29908 998 QI8
D) ae@ | 9e° |l 29954 Qg

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some trains are ships.
Some ships are helicopters.
All the helicopters are buses.

Conclusions:

l) Some buses are ships.

II) Some helicopters are trains.
II1) No helicopter is train.

I\VV) Some ships are trains.

A) Only Il and IV follow

B) Only I, IV and either Il or Il follow
C) Only Il and Ill follow

D) Only I and Il follow

Techofworld.In

Pageb5of24



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

18) F624ISRT G6@ TRUAIRYSI 7129 J8g 77 58 FUARE |
28T FRULIRAR| ARG IKY 6LIR AIFRIR UF 98 § YEl
QARIGEIER IR FOIQ BiR 6RHAIREN | AT Fady 9eg
49° QI06a 596 Gag, FaIKIRYRI Fad FUQ 686G AIGSIER
@€121Q1 P2Q LRARR| FR2R! 12RG O] RUER QA @8 |
ARQY: G 60F 6208 IR | B8 FIRIF 6208 62AKYR | 9]
62000 Yo 69Q8 ad |

aad:

) @8 @9 6298 F12I8

1) @8 6eNa9a 6228 658
IIl) 61613 62R0 669 Q6% |

IV) @8 FI9IE 62282 657 |

A) 6295 I198° IV 2908 @93 |

B) 6@ |, IV ¥@° 1l @9l 11IQ 6315~ 29208 908
C) 6aae 11 98° Il 2G908 G9F |

D) 6aqq | 96° |1 29908 @93 |

19) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.

S is the father in law of P, who is a male. How is K
related to S7?

Statement | : K has two daughters.

Statement Il : K is the father of P

A) 2
B) 4
C)3
D) 1

19) GeaaI9RT: FIRYe gg6a
1 996 @98 UG 6297 A2 | ALIWYER 999 R FULIRAIQE
|

2 §2¢ @ag, 4G 629R 7294 || A26AIT6Q g99e a8 G2
aIgs |

3, AT Gee | 99° || ALELITER 999 209 G2 AIQE |
4, A% 949 Q99 6968 & SR A6 Q1@ |

S 6268 P Q g4, 9@ &a |

K Q2 S Qafe @4 ?

84 | KQ 9aG 32 28 |

84 Il - K 6298 P QIall

20) In a certain code language, KABADDI is called
BADMINTON, CARROM is called CHESS, CHESS is
called SQUASH and SQUASH is called WRESTLING.
The sport played by using a ball is called as

A
B
Cc
D

KABADDI
CHESS
SQUASH
WRESTLING

e S ettt

20) 9@ G499 QKT AUTI6R, KABADDI q qeiaIeld
BADMINTON, CARROM q @@IQieel CHESS, CHESS
Q QEINIeeN SQUASH 9a° SQUASH @

QIRIREIN WRESTLING | Qf Q49218 @@ 68RI0I2/S|
FI0IG P8 GRIAN ?

A) KABADDI

B) CHESS

C) SQUASH

D) WRESTLING
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21) What happens when the teacher stops to follow up 23) FIAYE FRIQ 699 6T ARIR 60 FTE 8 IRISS § 9RE
regarding the tasks or assignments?

Amoll 2MGl gl QISR 6L3IIRN?

A) The students become independent A) & i _
B) The students lose motivation to learn ) 84Q1 Qe A2qIen 9¥6RI8
C) The students will take up new tasks on their own

)

B) dal a9 2106e) 98616
D) The students try to find the solutions on their own

C) dge aIn 9@ 6250 QE6Id

D) &l 99l 99RIT9R 2RIGES QRERIE
21) @4l 62Q 6060696R J8n AYEIg 60R A1 RITYQ QIE
Q0Ql 9 90 60697

24) A student who faces problems in learning and

. ~ retaining things for long is said to have difficulty in
A) Gayiel RIS 6LIRK6a
B) Gouidt §geia agl 2qiq 9369 A) emotional disability
e ~ B) creativity
C) Gavieh Few QU VI QL QG 626 ) .
L i C) co-curricular activities
D) Gouigl fee Qaciia AFRIG @aQIe AdlR 6HIFER

D) executive functioning

22) Which among the following options CANNOT be 24) 604 818 JVGER ANAVIQ AFHIR 9 8 FNE *FRN6Q @1l
covered under the non-formal mode of education?

QA B, GITIR 6PRRI6R AN 2T 691 QLIDS ?
A) Small duration vocational courses

B) e-leamning courses for academics A) QIeqIR AR89
C) Hobby courses

B) gerdinel
D) Special training for entrepreneurs

C) ag-a10ig9 QIdIeRIa

D) Qidyqian a&G)
22) 910 26RII0RS URG AUINER F6EIP R 699 Ga

509D 621G QIE? _
25) With reference to classroom management, read the
N following statements and choose the CORRECT option.
A) g9 29 9EGIe AI0IGS (i) Develop lessons at a level that challenges students and
B) da@qaies aIn -ad° ai0ygea is difficult or confusing.
C) 6dlge QI0YGE (i) Make leamning intrinsically interesting by relating lesson
Y h, ~ content to the students’ life and local environment.
D) G66@ SR QIR QEQUISIANISE Glmel
A) (i) is FALSE and (ii) is TRUE
23) In which of the following techniques, teaching and B) (i) 1s TRUE and (i) Is TRUE
assessment are viewed as two separate entities? C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (i) is FALSE

A) Co-operative Approach to Learning
B) High Tech Approach to Learning | eC h OfWO rl d & | n
C) Teacher-centered Approach to Leaming

)

D) Inquiry-Based Approach to Learning



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

25) 684192 TERIRTI ALEEQ FFIQ 69Q Gaed A0 26S ?
(i) 998 99 2R §NA G FF A0YIGH FQDS QITI Fiee
dia 2D 699 |

(il) Q10197 VL] SRR 1R 99° AIFIL ITERE A2 601R
@0 2ARq 69199 KIS |

A) (i) 6208 gm 9e° (i) 6208 O
B) (i) 62a@ 09 9 (i) 6208 0w
C) (i) 620@ 0 9e° (i) 6208 g

) (i)

D) (i) 6208 @R ¥e° (i) 6268 ga

26) The students who are less active in academic work
can be engaged in which of the following activities?

A) Asking the more verbose students not to hold back
from commenting

B) Conduct lively discussions in which at least some
active students participate

C) By using verbal and non-verbal cues in a restricted
manner inorder to encourage participation

D) By arranging the room in a way that encourages
active engagement

26) 9I0 Jeka 90 AFA e Audileg BaakQ a9
[Slal[=iallgTNaEalalls[=al=p

A) 2@ 2l @2aQl AMITINIRG TAS16991Q € ATEIRS! TIR
QEal

B) @108 26REAIYER EARE F0R1 QI2I FIRI 28 @76 @8
AGa SQuIgh 2raged @R6T |

C) 2ragedq 69IQIEe 90Rl AR 6714R 6 28-67TIHR A6
TS QIR YGLIR SRS FIRU

D) aag 9a@ 68 Q1ede 269 191 91 IG0 Q16 g ua
ARy 6919IES @RS |

27) The two major factors that control the child's learning
and personality are

A) peers and society

B) hereditary and environment
C) grandparents and parents
D) physical and maturity levels

27) dga JIgad 9e° Q4eg F92¢ 92l Qe ¢ QI0d
Q4 266 ?

A) Qg 9e° anig

)

B) age-da e adia

C) caeaeial 6m6adl 4e° dalae!
)

D) qiqidia 9e° afaxel 2a

28) NIEPA is an Institute established by the Government

of India dealing with management of education. What
does NIEPA stand for?

A) National Institute of Educational Planning and
Administration

B) National Institute of Educational Phase and
Administration

C) National Institute of Environmental Planning and
Administration

D) Neo Institute of Educational Planning and
Administration

28) NQZIRGRKY VIGE ARG 1Al IR AAIRR| ST 9Ea
G06a 9190 9@ 2gaIR1 9Q2IRad (NIEPA) @8 9E1M?

A) HRIGIR AFEYT AT IPERARIN YE° 218 AIGHFEEAR

B) cuacin eedgus AT 1geadain 68 24 21I8fReadR

C) QGIR Q9819 2T YRAIFCAREAYUR Q& 219
AT

D) 868 ae8gyg 21 Igeadain QG 214 2I8R68as

29) The main objective of the NCTE is to achieve planned
and coordinated development of the teacher education
system throughout the country. NCTE stands for:

A
B
c
D

National Committee for Teacher Education
National Council for Teacher Eligibility
National Council for Teacher Education
National Centre for Teacher Eligibility

— e

Techofworld.In
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29) NCTE Q €8 @6@44 624 Q19 688e S11 94191 Q 26T
Qa2 @ 3R @ 919 2GR A6G| NCTE § g4 Quea
QeI AN

A) 8% §91 91 QLG ATE

B) d8@ QIgel AIl Qg1 988 T e C h Ofw

C) dge 991 91 QY1 968
D) dge qigel AR QUL 699

30) Meghana is attending a teacher training and faculty
development technique whereby she reviews a recording
of a teaching session, in order to get constructive
feedback from peers and/or students about what has
worked and what improvements can be made to her
teaching technique. She is involved in

A) Macro-teaching
B) Minor -teaching
C) Micro-teaching
D) Major-teaching

30) 6719R1 9 J99 GRS B 6QIGYS R AL FITIGAER
6216 69R8S | 6JR0IEA 6Q IR FVIQIR IEIINA 6ORE°]
AR RQRE | QIR TREQ 64 AR B /G RIRIYIT OIQ
JOR¢PR AGIG IRUIRES @ 697 2AFA6R IV QAR TR
QAAIRES | 69 69RY6A A RS ?

A) Q16Q1-56°

oamee | €CNOTWOT]

C) aieeq-66°
D) 6n160-66°
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31) QIR 69115N 6Q1RI TR | QSRS 99T 600 65419 ?

36) ‘09 QFal- gata 2d @'a ?

A) 63608 A) Quel 9889 @GRl
B) o @@ B) aegel

C) ¢g aa C) uie g&al

D) cage

D) aaigs a4l

32) AOAYE FRIQ 674 6QIF! 9 URANA FANG ? 37) ' Q19 ' 9Q 47 496 99 99 98q 52 A9 |

A) @18-9a1

A) saige
B) eaig-agig B) smiee
C) co18-6918 C) mige
D) zicaie-aae D) aiga

33) ‘egRar - QRGR 8¢ @'q ? 38) ' QleETR’ 990 QIUR 0 A8 APRYS IR 696G O Qdia
I

A) G8G @2l
A) I A2Ie
B) cega @inoim
B) qignaig
C) gagas @2l &
) QIaG
D) qiqiell

D) aariq 9@

34) FIRAYE 99 AR FoIF F668E 0T 26 @a | L
39) @11 8RG 526 @4 |

A) sarie

B) aiciey A oag
C) qiada B
D) gaigel C) qiga

D) smige

35) GEAF dQ J6Q FETE 9 NREe 6EEM GIg @ g

6a86 QAN ? 40) RIS F2IQ QAT ‘ATARIT Q FANG 9 ?

A) Gal Feasd A) Gagakr
B) Gexa Geaad B) aeit

C) Qeaay Qal 6884 C) za
D) acyaq Qeasd D) zaqiae
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41) FIRYC RIQ 624 99 ‘T *AAT 69166 9108 ?

foac Techofworl

43) G6E)I8 F1IQ 6996 AUAGER 6106 §9 g6 ?

A) Qig

)

B) gdaie

C) @qie
)

D) aigQie

44) QNIRIQE QIR OF1 ORA @8 AR IR AGER ARG
6TGEM | 6oGl@e 985 @ IR Jql 99 ?

A) Saaieida

B) @0@

C) aqida

D) qide 6 Gade

45) SORYS FRIQ 62916 9 09 Q6T QILLE IR F6ETE ?

* Techofworld.In
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48) After simplification, the expression 2x — x(5 + y) + 3xy
+ 4(2x - y) simplifies to

A) 4xy+15x-4y

B) 6xy+5x-4y

C) 3xy+2x-4y

D) 2xy+5x-4y

46) AORIRAE 6291 D61, ARG 2x - X(5 + y) + 3xy + 4(2x
-y) 8 AAR1Q0 QT 629

A) 4dxy+15x-dy
B) 6xy+5x-4y
C) 3xy+2x-4y
D) 2xy+5x-4y

47) If two sets are equal then

A) one set will have less number of elements than the
other set

B) they will have the same elements
C) they will have the same number of elements
D) they will have different elements

47) 9T QRG 646 AAIR 6369

A) 69115~ 6269 QAR A°FHYI AN 69¢ OIQ @F1 629
B) 6ag@aq aaiQie aaIe 9@

C) 6Qageae A e QAIQIR 989

D) 6ageee QUIRIe Zagl ANl 92

48) Three friends A, B and C divide a profit of Rs. 2560
among themselves. If Rs. 15, Rs. 20 and Rs. 25 are
removed from the shares of the profit of A, B and C
respectively, then the shares of the profit they get will
become 5 : 8 : 12 (in ratio). The amount that A receives is

A) Rs. 530
B) Rs. 515
C) Rs. 475
D) Rs. 550

48) GOa4 Qg Y, @ ¥9° d 6QAIGE (1166 Rs. 25609 9@ QIS
@I5 @M1 99 4.8 ¥9e° J & QIR QIg f1UQ Rs. 15, Rs. 20 49°
Rs. 25 @I§ FEIQN 6061 6276 DIRESI RIRS QG AgaIe
QOGS 5 : 81 12 Q@91 1 AIRLQ! 218 RCI¢ 6298

A) Rs. 530
B) Rs. 515
C) Rs. 475
D) Rs. 550

49) If Rs. 740 is divided into three parts such that second
part is % of the third part and the ratio between the first
and the third part is 3 : 5, then the parts are respectively

A) Rs. 340, Rs. 160, Rs. 240
B) Rs. 240, Rs. 100, Rs. 400
C) Rs. 300, Rs. 100, Rs. 340
D) Rs. 400, Rs. 100, Rs. 240

49) A8 Rs. 7409 9@ 6F @I96a @I6l 29U 69, §91¢ QIS

@o1R RIS ¥4 629 Q° gAF G 9918 RITR 2gAIe 3 : 5 629
6069 M€ QIoIgen KalIgss

A) Rs. 340, Rs. 160, Rs. 240
B) Rs. 240, Rs. 100, Rs. 400
C) Rs. 300, Rs. 100, Rs. 340
D) Rs. 400, Rs. 100, Rs. 240

50) Two numbers are respectively 25% and 40% more
than a third number. The ratio of the two numbers is

A) 23:28
B)28:5
C)25:28
D)5:8

Techofworld.In
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50) GRIG QNI PO1A AGMI0IR LUFEN 25% 99 40% 2| 53) The area and perémeter of a square with diagonal of
cad 98 QIR 2GAIS cood 200 meters are respectively
A) 40000 m2 and 4002 m
A)23:28 B) 10000 m2 and 100¥2 m
B)28:5 C) 20000 m? and 400v2 m
: D) 40000 m? and 200 m
o] @chofworld.In
D)5:8

53) 900 Fi5Q @4l el IR SCEAGA 6ITTR IG° 2GR 6208

: i g Jelges
51) If each side of a cube is increasesd by 40%, then the
percentage increase in its surface area is L -
A) 40000 @49 §ieQ 9e° 40072 Gge

A) 96% B) 10000 @4l figq 9e° 10072 fca

5 i C) 20000 <4 §iga ¥4Q° 400V2 e

C) 88% .

D) 99% D) 40000 ed figq 9e° 200 feQ
51) 9@ 99 99 Q 9604R QI 40% Qdie SRUIRAN, 6069 54) The ratio of two numbers is 3 : 4 and their H.C.F. is 6.
2R ARG 6989 SENFER 6966 9F 62IRAN? Thanl V%

" A) 24
) 96% B) 16

B) 100% C) 48
C) 88% D) 72
D) 99%

54) Q98 Qi 2 3 : 4 98° 6AAIRER ¢.Alg. 6 |
52) The profit earned by A is 30% more than that earned Ssclisme el i o
by B. The profits earned by C is 60% more than that
eamed by B. Approximately what percent is the profit A) 24
eamed by C more than that earned by A?
B) 16
A) 23% C) 48
B) 32% D) 72
C)31%
D) 25%

Techofworld.In

52) A 919231 RIRG 9716 B Q19291 AIR §RFI16Q 30% 2@
C 9IR2SI RINQ U518 B UIRgS| RIQ G168 60% 2RJR1 AR
AR GRAER CA AR LRI 6060 IG96 2F?

A) 23%
B) 32%
C) 31%
D) 25%
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AR 6TIRT| Y& 98 F1U6Q IR ARG TS 6TIRT| 9L A6Q
4@ QO6NEER IR 9| ZET 62RE §R 1e° QTeag 1Zad
QIAEA A YR IR AFS 621081 1 A G 6994
686T% (6 62.0.60)a AT 6208

55) 56) 666" RUEAYR AT 6T 7 62 F. ¥9° IR 1U6R IR 98
" Techofworld.In
M

A) 176
B) 98
A C C) 49
In the given figure AM is perpendicular to BC. If ABC= 557, D
then Angle MAC in degrees is ) 245
A) 55
B) 35 57) If U={1,2,3,4,5}, R={1,3,5}, S={3,4,5}, T={2 4}, then
C) 65 RNSNT is
D) 45
A) {3}
B) {2,4}
55) C)o
D) {1,3}
B - -
M
57) 9@ U={123,45}, R={1,3,5}, S={345} T={2,4}, 6069
RNSNT 62ad
A) {3}
B) 2.4}
N .. C)o
QIR Ggea AM 62@8 BC g6 me] | 9@ ABC=55°, 66969 D) (1.3}
6516 MAC @ @91 69607 ‘
A) 55 58) What is the least number that leaves a remainder of
B) 35 3, when divided by 5, 9, 10 and 207
C) 65 A) 363
D) 45 B) 183
C) 93
D) 73

56) In a square with side length 7 cm there is an inscribed

circle. In this circle there is an inscribed square. Again TeCh OfWO r'l d I n
there is an inscribed circle in this square. Circles and n
squares are inscribed this way alternatively infinity times.

The sum of the areas (in sg.cm) of all these squares is

A) 176
B) 98
C) 49
D) 245
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58) 5, 9, 10 ¥<Q° 20 910l @19 AQUGER N AUGEHT QI ARG
QY @'§?

w | echofworld.Ir

59) If m? = 11m + 18=0, then the values of m are

A) 3,6
B) 2,7
C)2,9
D) 3,9

59) @G m?2- 11m + 18=0, 6669 M @ FMIGES 620&

A) 36
) 2,7
)
)

s3]

C)29
D) 39

60) Three or more lines passing through a same point are
called as

A) Concurrent lines
B) Parallel lines

C) Perpendicular lines
D) Line segments

60) 69151 GQ 6Q AIA 62@CIQI GF Q 2R 6%l 9&q
QEILIRANI

) AR 6|

B) aqisa 6%1|TeCh OfWO rl d I I

C) ag 6ol
D) cagl sia
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61) Which layer reflects back the radio signal transmitted
from the earth?

A) Exosphere
B) Mesosphere
C) lonosphere
D) Stratosphere

61) 629 2Q g2al QIR 69Ge 6a0Ia AW LTTRS
Q6Q ?

A) (691399
B) srica@oq
C) 21g60@9
D) qice@aq

62) Who among the following was one of the founders of
Poona Sarvajanik Sabha?

A) Mahadev Govind Ranade
B) Debendranth Tagore

C) Rabindranath Tagore

D) Dadabhai Naoroji

62) AIRNYS FRIQ @4 gl ALFITR A8 | AT 2ER?

A) Q12169 691G QIRIEG
B) cacagaiel 16919

C) aQ1gala Seala

D) qIoiein fl6qud

63) What is the name given to the imaginary line which
runs from the north pole to the south pole of the Earth?

A) Equator
B) Latitude
C) Parallels
D) Longitude

63) Q91Q ARAEAQ B ABAAGY 6QId @RS QIFRR 6asIR
QIFI QE ?

A) IgQ 6adl

B) a@ra

C) anigeasi age
D) qideu

64) What is the length of 1° of latitude (a one degree arc
of a meridian) at the poles?

A) 100.7 km
B) 115.7 km
C) 110.7 km
D) 111.7 km

64) 6619 FRT6a 1AV Q AF] 6R6S 62IRAN (1L 69N
1 @91 9a G76)?

A) 1007 @@
B) 1157 &4
C) 1107 &4
D) 1117 @8

65) What was the main aim of Agenda 21 adopted at the
'Earth Summit' in the year 19927

A) Eradication of poverty

B) Sustainable development

C) Protection of endangered species
D) Economic decentralization

Techofworld.In
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65) 1992 Adgla 9eQ1 %e AFRR1ER gaé
UL 215 QIFIOIR IS AEREY QS ARI?

A) QIRGY 9RIR4

B) uiedie Seig

C) 3pg 919 geIta gasl
D) 2icie7on Geadaad

66) In India, which of the following types of emergencies

can be proclaimed when a State Government fails to
function?

A) Constitutional emergency
B) Military emergency

C) Financial emergency

D) National emergency

66) 69606967 QR AR RIY RASE TR CIRAIREG,

606R  LOmge 6 6@ geloa  2deelea  eulgdl
FALIRAIEQ?

A) QFIRR 2GR
B) eday 2i0eqie
C) 2idie ageie
D) qigig 2Igies e

67) Who among the following kings was known for his
hasty temperement and impatient behaviour?

A) Ghiyas-Ud-din Tughlag
B) Nasiruddin Shah

C) Firuz Shah Tughlag

D) Mohammad -bin-Tughlag

B7) F6C1I9 QRINIRE AR & e 95 RIS Ie° 20 IQLIR
QIR FEIGE?

A) Gi9IQ-aQ-Te-6oIRR
B) odgiq gie

C) GIqug 4Ie 60199

D) aigae -8q-6010R

68) Who among the following was the founder of Pala
Dynasty?

A
B
c
D

Narayanpala
Dharmpala
Gopala
Devpala

—_— e e

68) G612 FIRE FIQ &4 UIN QIRER JEVIBI LER7?

A) QRISEAIR
B) udaie
C) saugai@
D) secain

69) As per Indian Constitution, "To uphold and protect the
sovereignty, unity and integrity of India" is a

A) Political Right

B) Fundamental Right

)
)
C) Fundamental Duty
D) Civil Duty

69) QAGIA AUS AL QUG QAQECRAG!, 1RSI <Q°
AR IFIL AYA! 9Q° Afl AN 1R

A) QIG6RER 2R
B) eflaa 2@ie
C) 65w 81y

D) Qigde @aa4

70) Which among the following options is the smallest and
shallowest ocean?

A
B
Cc
D

Indian Ocean
Atlantic Ocean
Arctic Ocean
Southern Ocean

—_— e e
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70) SORGE AR 6RGE AQOIR 6316 B BFl ATIACR 2667

A) 2 AR

B) aicnide aglaica
C) 2196] ALIALR
D) e84 aglaee

71) Which of the following inquiry commission was

instituted to look into the Jallianwala Bagh massacre by
the British Government?

A) Simon Commission
B) David Commission
C) Hunter Committee

D) Simpson Commission

71) §54 AORIOT FIAI FRAQGIR QI T AR BLB RS
IR 565119 FUIQ 699 0a2 FFIER G0F FAIAIRYRI?

A) AQag aFsq
B) cetg afiag
C) e4q @65

D) dsag afige

72) Which among the following is a non-renewable natural
resource?

A) Water

B) Wildlife
C) Forest

D) Fossil fuel

72) 39REe ARGER AUQ 6RAE ARIRQE QI gIgaR
AR 26T 7

A) a@
B) @angian

C) aq&y
D) 65910 08¢

Join Us-

73) Which of the following did Dr. Babasaheb Ambedkar
called as the ‘heart and soul’ of our Constitution?

A) Right against exploitation

B) Right to freedom of religion

C) Right to constitutional remedies
D) Right to equality

73) F6QIRAIRE TR 6R9G] O]RR IS ACLR AR iF)
QFRIFR "GRG IQ° 2FY” QIRER 2ITS GRRER?

A) 68196 FEaRIEA AR
B) ufi@ qRIGGIR 2N
C) afiafe 96aIe 29I
D) gaieeia @I

74) Name the atmospheric layer placed between
Stratosphere and Thermosphere?

A) Mesosphere
B) Exosphere

C) Troposphere
D) Tropopause

74) 465R@GR 99° a6AR0a A6a gQl QIGFERQ 9 Q¢
@'q?

A) e6a@aR
B) wsg@aa
C) sgicaiaa
D) 6160108

75) Which of the following country's model has been
adopted in Indian Constitution to appoint the Governor?

A) United States of America
B) Canada

C) United Kingdom

D) France



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

75) GORGE FIQ 69% 6949 Q F166M Q QIFITIR FYB A AIRN
RIGIE QAR 6Q 2ITCER 26M?

A) 9RIRETY 686 2T 2N Te C h OfW(

B) QIQI5!
C) 9910609 Saren
D) g1g
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76) Which of the following substances can be prepared by
heating gypsum?

A) Baking soda

B) Sodium hydroxide
C) Bleaching powder
D) Plaster of paris

76) FAQAQ G99 @3 GAQ 69Q AQlel 32IR RAUAIRAFR?

A) 6Q@er 6@

B) caiGor 21n6g1gine
C) 36 alaea

D) giae 2T auiaa

77) Who among the following was the first to observe a
cork cell under a microscope and known for coining the
word ‘cell’ in the year 16657

A) Rudolf Virchow

B) Sergei Winogradsky
C) Robert Hooke

D) Friedrich Wohler

77) a0 54 9eIA 219 QIR 99 @F Q18RI AIGEFI6RIT G6R
dgalie Q@EJGQ 38 1665 6q gasl e aQ "64R" d99 QITIQ
@oeem?

A) Qeeine GasR
B) d6am @aenlgied
C) 6qie6 g@

D) 6g6ed@ 6210

78) A ball is dropped from a height of 2 m rebounds to a
height of 1.5 m after hitting the ground. The fraction of
energy lost in the impact expressed in percentage is

A) 50%
B) 10%
C) 75%
D) 25%

78) 26109 20918 99! ARSI 9a 9R 96% 69l d6a 1.5¢6a
QETIR 6TRCIRI YTIQ RYEE I3 SR Gl YRS /g9
QoD 6aaE

79) The potential energy of a certain spring when
stretched through a distance S is 10 joule. The amount of
work (in joule) that must be done on this spring to stretch
it through additional distance S will be

79) 69606967 19 768 AR G S 996! 696 G4, 6A6366R
4210 906 69 6208 10 gnl ¥€ qa q 2668 S gael adie
S8R Gr6a AT 62RLRI KLY (FRER)D UBIIE 6268

A) 60J
B) 10
C)30J
D)20J



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

80) Streptokinase produced by the bacterium
Streptococcus is generally used as a

A) Blood-cholesterol lowering agent
B) Clot Buster
)
)

C) Immunosuppressive agent
D) Sugar lowering agent

80) 686YERIRD QUIBRA IR TR 690 FEEYRER
QARIISEISS QEQ QLI KL |

A) 026a 5RIEREN AR 16T
B) ¢ @aa

C) agierIasgdea 6eg

D) aeal 219<1 9654

81) Which among the following is an example of chemical
change?

A) Sublimation of solid ammonium chloride
B) Curdling of milk

C) Evaporation of petrol
D) Heating of an iron rod to red hot

81) FErUQ 6766 AQIRER 0RSENS IR AQULREI?

A) @0Q 2I6AIRAF 65QIRPR AFIRAE
B) 810 9F 624

C) 6a6gim QE1Qe 624

)

D) 4@ Q21 954 99¢ @2 AN A6

82) Which among the following macromolecules or
organelles is absent in Prokaryotes?

A) Vacuoles
B) DNA

C) Vesicles
D) Golgi Body

82) 691910674 68 O 6aa QN 2¢ QI 6RIY AT AGOFE
arg?
A) Qig6ma
B) Saa4
)
)

O
[

adan

=}

155)
)

a6 96

83) To prevent the loss of water, the epidermis of thick

waxy leaves contains which among the following, that is
usually absent in the roots?

83) 89 90 6QIRAI QIR 6AIG F2a @F Jga 1dedd 6a
QIR QNG 2N Q1L ARINEIFS 60R6Q AGATES &IN?

A) caleeq
B

O

)
) A
) a@
) 685

=)

84) The average energy consumed by a human being in
a day

A) 2400 x 10”6 cal
B) 240 cal
C) 2400 kcal
D) 24 cal

84) G661 QU3 FIA 6GITN THEQ QUL 62N LIAULIT 9B 620

A) 2400 x 1016 call
) 240 cal
C) 2400 kcal
D) 24 cal

B
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85) A 25 cm long capillary tube is dipped in water. The
water rises up to 10 cm. If the entire arrangement is put in
a freely falling elevator the length of water column in the

capillary tube will be
A) 5cm

B) 25cm

C)10cm

D) 20 cm

85) 4@ 25 6Qf @14 654@ ae1 A6 geIeRIl A8 106

adie @OmIl 9@ QAP QUeRIR Y@ g9 RINER SIS
QENERGAER QAHITR 606 6099 AR1EQ FRAAR AR 629

A) 5 69¢

B) 25 cad
C) 10 ead
D) 20 6af

86) In a typical eukaryotic cell, during the process of
karyokinesis, at which stage does the nuclear envelop
develops around the chromosome clusters at each pole
forming two daughter nuclei?

A) Metaphase
B) Anaphase
C) Telophase
D) Prophase

86) 9@ AIIGE GRIABER 6QI86R, AIABHEETA IRl AFNER,
609 INILER 6N 601N FRTEA 65I6FIERIN §RQ PIRTIHER

QURIG IQOER TR 6LIRAN QIR FIU AT F¢ G, Fed
949?

A) sagleae
B) aiqieare
C) sgemisere
D) sgeare

WtsApp/Call- 8596976190

87) Which among the following options CANNOT be

categorised as biological pathogens that could cause
diseases in humans?

A) Bacteria
B) Pesticides
C) Parasites
D) Fungi

87) Gackig 6eu daady eRaw JIGAERE 6] Q9IQe
ARG FIT 12! FIFS JR166Q 6QI6 JT FRAIGE?

A) Queg@zll
B) sadaae
C) aies
D) qeq

88) The relation between Y(Young's modulus of

elasticity), n (Modulus of rigidity) and B (Bulk modulus of
elasticity) is

A) 9/Y = (3/n) + (1/B)
B) 1/n = (1/B) + (1/Y)
C) 9/Y = (1/n) + (3/B)
D) 1/Y = (1/3n) + (1/9B)

88) Y(awrer 88 Q99 A ), n (99918 gEIw) 9e° B (49
QII9QQ 99 G9IR) FIEA AN 620

A) 9/Y = (3/n) + (1/B)
B) 1/n=(1/B) + (1/Y)
C) 9/Y =(1/n) + (3/B)
D) 1/v = (1/3n) + (1/9B)

89) Which of the following plants is an example of
Epiphytes?

A) Date Palm

B) Pineapple

C) Tiger Orchid

D) Prickly Water Lily

Tf\f\l"\f\'F\Alf\PlA II"\
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89) B¢l RELYER FIQ 6046 YTTIRG @ IR ARILAE?

A) sigal 98
B) agei1 98

C) ciagq 2de TeChOfWO rll

D) @ gloq AR

90) The temperature of 100 g of water is to be raised from
24 °C to 90 °C by adding steam to it. The mass of the
steam required for this purpose is

A) 14 g
B) 16 g
C)12g
D) 10g

90) QeY QI Q6UI9 @R 1009 fFa Q9 24
°628699Q 90 °62469Qq 9F KIS | @JUIR 2GR [Q
AACS!

A) 14 g

e | €CHhoTworld.

C) 12 g
D) 10 g
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Question Paper No: 53675 110

Answer Key

. C 31.D 61.C
2. C 32.C 62. A
3, B 33.D 63.D
4. B 34.D 64.D
5. B 35.B 65.B
6. A 36.A 66. A
7. D 37.A 67.D T |
8. B 38. A 68.C eC
9. C 39.C 69.C
10. C 40. A 70.C
II.B 41.D 71.C
12.D 42.A 72.D
13.C 43.A 73.C
14.C 44.C 74. A
15.D 45.D 75.B
16. B 46.D 76. D
17.C 47.B 71.C
18. B 48.B 78.D
19.A 49.B 79.C
20.D 50.C 80.B
21.B 51.A 81.B
2. B 52. A 82.D
23.C 53.C 83.D
24.D 54.D 84.C
25. A 55.A 85.B
2. D 56./BN86NE
27/B" 578 871 B
28. A 58.B 88. A
20.C 59. C 89.C
30. C 60. A 90.C
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1) Select the correct option.
His father is experienced Math teacher.

A) a

B) the
C)an

D) no article

2) Find the most appropriate opposite meaning word:
RELINQUISH

A) Renounce
B) Possess
C) Claim

D) Deny

3) Choose the most appropriate similar meaning word:
ABJECT

A) Commendable
B) Wretched

C) Challenge

D) Magnificent

Read the passage and answer the questions that follow:

Arainbow is a meteorological phenomenon that is caused
by reflection, refraction and dispersion of light in water
droplets resulting in a spectrum of light appearing in the
sky. It takes the form of a multicoloured circular arc.
Rainbows caused by sunlight always appear in the section
of sky directly opposite the sun.Rainbows can be full
circles. However, the observer normally sees only an arc
formed by illuminated droplets above the ground, and
centred on a line from the sun to the observer's eye.ln a
primary rainbow, the arc shows red on the outer part and
violet on the inner side. This rainbow is caused by light
being refracted when entering a droplet of water, then
reflected inside on the back of the droplet and refracted
again when leaving it.In a double rainbow, a second arc is
seen outside the primary arc, and has the order of its
colours reversed, with red on the inner side of the arc. This
is caused by the light being reflected twice on the inside
of the droplet before leaving it.A rainbow is not located at
a specific distance from the observer but, comes from an
optical illusion caused by any water droplets viewed from
a certain angle relative to a light source. Thus, a rainbow
is not an object and cannot be physically approached.

Rainbows span a continuous spectrum of colours. Any
distinct bands perceived are an artefact of human colour
vision, and no banding of any type is seen in a black-and-
white photo of a rainbow, only a smooth gradation of
intensity to a maximum, then fading towards the other
side. For colours seen by the human eye, the most
commonly cited and remembered sequence is Newton's
sevenfold red, orange, yellow, green, blue, indigo and
violet, remembered by the mnemonic Richard Of York
Gave Battle In Vain (ROYGBIV).Rainbows can be caused
by many forms of airborne water. These include not only
rain, but also mist, spray, and airborne dew.

4) Rainbow is caused by the dispersion of

A) the clouds

B) water droplets
C) alight

D) a circular arc

5) The color Red on the inner side of the arc is seen in

A) the primary arc
B) a double rainbow
C) the 2nd arc

D) a single rainbow

6) Rainbows can also be caused by

A) Airborne dew

B) Ultraviolet rays

C) Prism molecules in the sky
D) Infrared rays

7) The mnemonic used for remembering the colour
sequence is

A) Richard Of York Gave Banner In Vain
B) Russell Of York Gave Battle In Vain
C) Battle of York grieved Russells vanity
D) Richard Of York Gave Battle In Vain

Techofworld.In



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

8) In a black and white photo, a rainbow

A) looks dark and faded
B) is invisible
C) uniformly black

= i Techofworlc

9) Select the correct form of verb from the given options.
Don't be so noisy. Radhika to study for her
public exam!

A) has tried
B) tries
C) is trying
D) tried

10) Select the correct plural form from the given options.
There are four on the desk.

A) Banana
B) Onion
C) Apples
D) Book
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11) The function of NIEPA is Integrating educational
studies and researches under the area of

A
B

C
D

educational planning and curriculum development
educational planning and administration
school and curriculum development

educational administration and curriculum
development

11) R2RAT 9 QIY 6268 6RQ 688 2XN6Q JJIGS
BRIGE I9° AFANINY 9RI0 GFaI?

A) 81010 6RISR| 9e° IO G4
B) daicio 6Q1ea1 9a° g8Iaq
C) Gouipg 9e° QI0iga G414
D) d19¢ 949198 9e° QIoIge SQI4

12) Sound travels fastest in which of the following
mediums?

A) Oxygen
B) Water
C) Air
D) Steel

12) AUAUQ 699 FIKIA 699 Y1 AF0IR 91d 9F *SeI?

A) ageee
B) aom
C)aig
D) &a

13) As per Article 55 of the Constitution of India, the
election of who among the following shall be held in
accordance with the system of proportional representation
by means of single transferable vote?

A) The Governor

)
B) The Chief of the Army Staff
C) The President
D) The Chief Election Commissioner

13) Q0GR AJUINR AGERS 55 2gALR Jekm SIRTEARR

6RIF FIKIAEA AIGAGH ETYE e 2GAI6a FIAUg *IIa
AR QQIAN?

A) Qigyaie

B) 218 @i & &ty

C) augad

D) gty AQIoR KG80R

14) To reach high quality educational content to the most
backward areas using satellite communication, 32 DTH
channels have been made functional, under

A) Unnat Bharat Abhiyan (UBA)

B) “Institutions of Eminence” (IoE)

C) SWAYAM Prabha programme

D) Ek Bharat Shreshtha Bharat programme

14) @@ J99@IQ 91 FIAIYYER AIECRIRAS ERIGISAIT
lIIFIEE AGOIQ T82I 2BREQ A2EQ! QI 696 FITIGA 2)F6a
32 § 9590 9uIeang 95% SQIIRG?

A) Q8% RIRG 2BAIR (YaN)

B) "aa8guaqd ac MAeead” (2IR6R)
C) gaq gel Qiduga

D) 4@ Q160 649 RI0E QId4e
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15) In which of the following years was the First National
Policy on Education formulated?

A) 1987

2w Techofworld

D) 1968

15) BAIQ 609 ¥ dNITS RA6A YN UIALIR ARG G0
RAUAIRRI?

A) 1987
B) 1967
C) 1986
D) 1968
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